
 2022 Online Exam Review

AS Economics Component 1 

All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 121 5.7 2.2 10 57.4 100
2 120 5 2.6 10 49.7 99.2
3 121 5 2.6 12 41.9 100
4 121 2.4 2 8 30.5 100
5 115 4.7 2.7 11 42.7 95
6 117 3.7 2.5 9 41.1 96.7

57.4

49.7

41.9

30.5

42.7

41.1

0 10 20 30 40 50 60 70 80 90 100

1

2

3

4

5

6

Facility Factor %

Q
ue

st
io

n

AS Economics Component 1 

Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Q3 (a) Using the data, analyse how the level of consumption in the economy may 
have changed between 2011 and 2019.  [6] 


Band 
AO2 AO3 


3 marks 3 marks 


 
Is the answer in context? Is the data’s impacts on consumption 


explained? 


3 


3 marks 
Excellent application 
 
Data is used very effectively to 
support arguments on how 
consumption may have changed 
since 2011 
 
Rate of relative % change of wage vs 
price inflation from a period of real 
wage growth and real wage decline 
is shown 


3 marks 
Excellent analysis 


Well - developed lines of analysis 
explaining how the difference in wage 
inflation and price inflation can influence 
consumption over the four periods  


Real wage growth, decline and thus the 
overall net/total consumption change is 
referred to 


2 


2 marks 
Good application 
 
Data is used effectively to support 
arguments on how consumption may 
have changed since 2011 
 
Data from both a period of real wage 
growth and real wage decline is used 


2 marks 
Good analysis 
 
Developed lines of analysis explaining 
how the difference in wage inflation and 
price inflation can influence consumption 
over the time periods identified  
 
Real-wage growth and decline is 
referred to 


1 


1 mark 
Limited application 
 
Data is used, but a limited range has 
been used 


1 mark 
Limited analysis 
 
There is a chain of reasoning, but its use 
of economic theory is underdeveloped; 
explanations are superficial.  
 
Use of wage growth or inflations linked 
to consumption 


0 
0 marks 


No valid application 
0 marks 


No valid analysis 
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Indicative content: 
 
AO2 
2011-2015: CPI 1.5-2% higher than wage growth, thus in real terms households are poorer.  
 
Late 2015, through to end 2016 wage growth much higher than CPI inflation (wage growth 
2% or higher and inflation at 0% to 0.5%) suggesting in real terms households are seeing 
real term income growth. 
 
2016 to 2017 wage growth continues to be higher than CPI inflation but the difference in 
growth begins to narrow suggesting in real terms that households are becoming richer but at 
a slower rate. 
 
2017 to 2018 Inflation exceeds wage growth again (3% compared to 2/2.5%). Starts off 
larger and then at a slower rate. 
 
2018 to 2019 wage growth starts to exceed CPI inflation and starts to differ greatly with 
significantly higher wage growth than inflation by the end of the data. 
 
AO3 
During periods of real income growth, households should be benefiting from increased 
discretionary income which can be used to buy goods and services that were previously 
unaffordable such as cars, holidays, new electronic appliances. As consumption is the 
measure of domestic spending by households, an increase in household spending should 
lead to higher domestic consumption.  
 
And vice a versa if there was a decrease in real terms income.  
 
A greater amount of time throughout the recent 5 years have wage growth greater than 
inflation. During this period the difference between wage growth and inflation is greater than 
the other two periods combined, indicating a net increase in household real income and 
therefore higher consumption.  
 
However the period between 2011 and 2015: 5 years indicate a prolonged period of real 
wage decline and also between 2017 and 2018, so it could be argued that in terms of real 
wages households have at best only seen a small net increase.   
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Q3 (b) Based on this data, consider whether UK unemployment is likely to increase 
or decrease from 2019 onwards.  [6] 


Band 
AO2 AO3 AO4 


2 marks 2 marks 2 marks 


 


Is the answer in context? Are the potential impacts 
of changes in real wages 


on unemployment 
explained? 


Is the answer debated 
and judged? 


2 


2 marks 
Good application 
 
Numeric data and non 
numeric is fully used 
effectively to support 
argument(s) 


2 marks 
Good analysis 
 
Developed lines of 
analysis explaining how 
a growth in real wages 
can lead to lower 
unemployment 


2 marks 
Good evaluation 
 
The answer comes to a 
reasoned judgement on 
whether you can predict 
unemployment to rise of 
fall 
 
Counter argument(s) are 
present and developed 


1 


1 mark 
Limited application 
 
Learner makes reference 
to the data or use of the 
non-numeric data to 
support argument 


1 mark 
Limited analysis 
 
Limited development and 
analysis of how a growth 
in real wages can lead to 
lower unemployment  
 
There is a chain of 
reasoning, but its use of 
economic theory is 
underdeveloped; 
explanations are 
superficial 


1 mark 
Limited evaluation 
 
Counterpoints are 
present, but none of 
them are developed. 
 
Judgement (s) that is/are 
unsupported will be in 
this band  
or a supported one-sided 
judgment 


0 
0 marks 


No reference is made to 
the data 


0 marks 
No valid analysis  


0 marks 
No valid evaluation  
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Indicative content: 
 
AO2 
Since 2019 wage growth has been rising faster than inflation and at the start of 2019 the 
wage growth was 3.3% and inflation at 1.8%, then rising to 3.8% and 2% inflation.  
 
Unemployment was at historic lows of 3.9% indicating a tight labour market where 
employers may be finding it hard to recruit labour with the required skill set, especially in 
high skilled positions.  
 
There were 853,000 vacancies throughout the UK even with low unemployment, possibly 
indicating immobility in the labour market or skills gap. 
 
Uncertainty due to the ongoing Brexit negotiations and lack of clarity over the future 
relationship could harm both business and household confidence. 
 
AO3 
Given the increase in real income growth (& net real income growth for the period before 
2018) due to wage growth greater than CPI inflation, then consumption could be rising. As 
there is an increase in consumption then this should lead to higher demand for businesses – 
both retail and business to business.  
 
In order to increase output, they could look to hire increased workforce or be investing and 
expanding, thus requiring increased workforce.  
 
AO4 
However, 2018-19 was during a period of uncertainty while the UK negotiated to leave the 
EU with no final agreement in place by April 2019, which may have created a level of 
uncertainty in the UK economy with firms within the UK delaying investment. Delayed 
investment would lead to less job creation.  
 
Increases in wages can increase costs for firms, which could impact on profits either leading 
to lower investment rates and job creation or firm looking to increase efficiencies by possibly 
replacing labour with capital.  
 
The increase in wages could feed through to higher inflation in the future, impacting 
consumption and associated job creation 
 
Unemployment is at historic lows and not necessarily being caused by a lack of consumption 
but factor immobility. Hence an increase in real income may only have a small impact on 
unemployment, decreasing it by a small percentage only.  
 
Given only 1 year of data, it is hard to judge what will happen to unemployment from 2020 
onwards. This may essentially depend on the withdrawal agreement with the EU. A “hard” 
Brexit may be a large disruptive force and leading to significantly lower consumption and 
investment leading to higher unemployment. Where as a “soft” Brexit may support future 
jobs growth to a greater degree.  
 
It may also depend on government and central bank macro-economic policy.  
 
  












jon

Sticky Note

The answer applies their answer to the data at a Good level -  with use of more than one time period and correct use of the relative price inflation vs wage inflation amounts to support their argument on real wage growth/decline. For excellent candidates interpreted the data and showed the % difference. Analysis here was deemed as excellent, although this answer was unusual. Firstly the answer achieves analysis at a Good level as they both identify real wage growth/decline and then explain why/how that change can affect consumption. For excellent analysis of the overall time period was hoped for, and although no evaluation was required for this answer - the last part of the answer did improve the quality of the analysis for the whole time period.







jon

Sticky Note

This answer is strong. It shows a strong understanding of technical economic theory and concepts which is used to support their analysis/explanations in their arguments. it uses the data to support their arguments effectively and shows a good grasp of the situation. A counter argument is present and developed. 












jon

Sticky Note

The answer applies their answer to the data at a Good level -  with use of more than one time period and correct use of the relative price inflation vs wage inflation amounts to support their argument on real wage growth/decline. For excellent candidates interpreted the data and showed the % difference. Analysis here was deemed as good as they both identify real wage growth/decline and then explain why/how that change can affect consumption. For excellent analysis of the overall time period was hoped was required.








jon

Sticky Note

This answer is a good answer. It shows a strong understanding of technical economic theory and concepts which is used to support their analysis/explanations in their arguments. it uses the data to support their arguments effectively and shows a good grasp of the situation. A counter argument is identified from the data in regards the brexit uncertainty and its possible impact on unemployment is developed with use of technical theory. 












jon

Sticky Note

The answer applies their answer to the data at a Good level -  with use of more than one time period. The answer takes a descriptive approach and so finds it difficult to show real wage growth or decline using the numbers. The answer then asserts that consumption would be affected with a link to a change in income but would have benefited from the real wage growth explanation. 








jon

Sticky Note

This answer is has good elements but is missing explanations of why and how using economic theory so scored lowly for analysis in their main argument. However the data from the graph and the text is used to support their initial point, whilst information from the text is used to support their counter argument. As such good application. The counter argument is developed and although appeared a little tenuous at the start, it is possible. The depends on at the end is an interesting idea but a little development is required to support it. Prior to the depends on, the counter argument was developed enough for Good. 
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3.	 In September 2019 the unemployment rate in the UK fell to its lowest level since 1975 driving 
up the rate of wage growth, but this still left 853 000 job vacancies throughout the UK. This 
was during a period of uncertainty for the UK economy as the UK Government was still 
negotiating the withdrawal from the European Union.


	 (a)	 Using the data, analyse how the level of consumption in the economy may have 
changed between 2011 and 2019. 	 [6]


	


	


	


	


	


	


	


	


	


	


	


	


	


	


2011 2012 2014 2016 20182013 2015 2017 2019
–1


0


1


2
%


change


3


4


5


Inflation (2%)


Wage growth (3.8%)


Source: adapted from BBC: https://www.bbc.co.uk/news/business-49646201
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Q4 (a) 
(i) 


Define what is meant by: a mean pay gap.  Total 
1 


 AO1: 1 mark 
 
Award 1 mark for correct definition. 
 
Indicative content: 
 
The mean pay gap is the % difference between a company's total 
wage spend per woman and its total spend per man.  
 
The number is calculated by taking the total wage bill for men and 
dividing it by the number of men and the total wage bill for divided by 
the number of women employed by the organisation. Then compare 
the difference in % terms.  
 
So, you add all the wages of one gender at the university together – 
lecturers, admin staff, security and then divide by the number of that 
gender working at the university and then compare the difference in % 
terms.  
 


 


 
 


Q4 (a) 
(ii) 


Define what is meant by: a median pay gap.  Total 
1 


 AO1: 1 mark 
 
Award 1 mark for correct definition. 
 
Indicative content: 
 
The median pay gap is the difference in pay between the middle-
ranking woman and the middle-ranking man.  
 
If you line up all the women and men working at the university in two 
separate lines in order of salary, the median pay gap will be the 
difference in salary between the woman in the middle of her line and 
the man in the middle of his. 
 


 


 
  







 


© WJEC CBAC Ltd. 13 


Q4 (b) Using a labour market diagram, outline reasons why a gender pay gap may 
exist at universities.  [6] 


Band 
AO1 AO1 AO2 


2 marks 2 marks 2 marks 


 
Is the diagram accurate? Is understanding of 


reasons clear? 
Have the reasons been 


supported? 


2 


2 marks 
Good understanding 


Correct labour market 
diagram to show wage 
differentials 


There are no meaningful 
errors 


2 marks 
Good understanding 
 
Clear understanding of 
reasons why wage 
differentials exist 


2 marks 
Good application 
 
Good use of context to 
support reasoning in 
terms of the male vs 
female pay gap – in 
terms of both genders 


1 


1 mark 
Limited understanding 
 
The diagram(s) is limited 
in scope or contains 
significant labelling 
errors or generic diagram 


1 mark 
Limited understanding 
 
Knowledge of reasons 
why wage differentials 
exist 


1 mark 
Limited application 
 
Limited use of context to 
support reasoning in 
terms of the male vs 
female pay gap – in 
terms of one gender 


0 
0 marks 


Diagram is not valid 
0 marks 


No valid understanding 
0 marks 


No valid application 
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Indicative content: 
 
AO1 Diagram: 
 


 
 


 
 
AO1: 


• Interruption of career progression and breaks from the labour market: one gender could 
take more breaks from the labour market than the other gender.  


• Patterns of employment – part-time work, service-based occupations.  


• Access to education historically 


• Employer discrimination / historic bias causing increased demand for one gender and 
less demand for another 


• Higher participation rate for particular roles, thus Increased supply of labour for one 
gender compared to previously 


 
Award any other sensible reason. Do not award one gender being more advantageous than 
another. 
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AO2  
The article outlines that in the past there is a supposed way gap with the male gender 
receiving higher pay than the female gender.  
 
In Universities this could be due to male employees unfairly taking up a greater % of higher 
paid roles.  
 
These roles could be academic: Professors in comparison to non-academic with male 
employees taking up a greater % of academic roles whilst the female gender employees are 
disproportionately represented in non-academic. Proportionally more females have 
historically tended to be clustered in service occupations that pay less – e.g. clerical, caring, 
catering, cleaning in comparison to lecturing positions at University. Lecturing positions are 
paid more highly.  
 
These roles could be non-academic: Management vs non-management with male 
employees taking up a greater % of management roles whilst the female gender employees 
are disproportionately represented in non-academic. Proportionally more females have 
historically tended to be clustered in service occupations that pay less – e.g. clerical, caring, 
catering, cleaning in comparison to management at University. Management positions are 
typically paid more highly. 
 
These roles could be time based: Full time vs part time with male employees taking up a 
greater % of full time roles due to the nature of the positions and work/life balance 
requirements. Full-time roles are typically paid more highly.   
 
 
 
 
 
  












jon

Sticky Note

Answer shows understanding of a mean pay gap in contrast to just a  mean



jon

Sticky Note

Answer shows understanding of a median pay gap in contrast to just a median







jon

Sticky Note

The answer shows an accurate wage differential diagram but would benefit from being integrated/linking to their text. 2 reasons are given for the difference in pay in terms of skills and favouritism. These reasons are supported well with the use of technical theory linking to the type of jobs or roles at university to create a high level response,












jon

Sticky Note

shows understanding of an average/mean but not in terms of a pay gap



jon

Sticky Note

shows understanding of a median but not in terms of a pay gap







jon

Sticky Note

The answer shows an accurate wage differential diagram but would benefit from being integrated/linking to their text. 2 reasons are given for the difference in pay in terms of demand and supply factors These reasons are supported well with the use of technical theory linking to the type of jobs or roles at university to create a high level response,












jon

Sticky Note

shows incorrect understanding of an average/mean pay gap



jon

Sticky Note

Answer shows understanding of a median pay gap in contrast to just a median







jon

Sticky Note

This answer contains a labour market diagram that attempts to show the wage differential. It is slightly inaccurate but the explanation alongside in terms of elasticity helps support it and allowed the benefit of doubt to be applied. However only one reason for wage differences is given and the question asked for two. The one reason was well applied to the context of universities, as such still qualified for good application.  
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4.	 More than 9 out of 10 British universities pay their average male employee more than they 
pay their average female employee. In 2017 there was a mean pay gap based on gender of 
15.3% and median pay gap of 13.7% across universities in the UK. Jobs at universities include 
lecturers, catering staff, administration, cleaning and site management. 


	 Since the Equal Pay Act (1970) it has been against the law to pay women less than men for 
the same work, although this can be hard to prove. 


Source: adapted from BBC: https://www.bbc.co.uk/news/business-47723950


	 (a)	 Define what is meant by:


	 (i)	  a mean pay gap. 	 [1]


	


	


	


	 (ii)	 a median pay gap. 	 [1]


	


	


	


	 (b)	 Using a labour market diagram, outline reasons why a gender pay gap may have existed 
at universities. 	 [6]
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Q6 (a) Sugar prices fell by 18% between November 2018 and January 
2019. Calculate the change in the short run supply of sugar. 


Total 
3 


 
AO1: 1 mark 
 
Award 1 mark for correct formula/clear understanding for Price 
Elasticity of Supply (may be implicit from a correct calculation) 
 
AO2: 2 marks 
 
Award 2 marks for correct calculation of the change in short run 
supply 
 
Award 1 mark for use of the correct data but with an incorrect 
outcome for example the outcome being expressed as a +ve % 
change. 
 
or correct calculation using incorrect data e.g. the long run PES  
 
Indicative content: 
 
Price elasticity of supply = % change in quantity supplied / % change 
in price 
Short run PES co-efficient = 0.14 
% change in price = 18%.   
18 x 0.14 = 2.52% change in supply 
It is a drop in price so = -2.52% change in supply 
 
0 marks for a % change change/original x 100 calculation. 
 


 


 
  







 


© WJEC CBAC Ltd. 21 


Q6 (b) Explain possible reasons for the differences between the short run and long 
run price elasticities of supply for sugar and copper.  [6] 


Band 
AO1 AO2 AO3 


2 marks 2 marks 2 marks 


 
Are reasons identified? Is the data used 


effectively? 
Are reasons fully 


explained? 


2 


2 marks 
Good understanding 
 
Understanding of two 
reasons for the 
differences between 
short run and long run 
elasticities of supply 


2 marks 
Good application 
 
Numeric data and non 
numeric is fully used 
showing that both were 
inelastic but then sugar 
becomes less inelastic 
(but still inelastic) and 
copper becomes elastic  


2 marks 
Good analysis 
 
Developed lines of 
analysis explaining why 
the reason(s) make 
supply more responsive 
to a change in price 


1 


1 mark 
Limited understanding 
 
Partial understanding of 
one reason for the 
differences between 
short run and long run 
elasticities of supply 


1 mark 
Limited application 
 
Use of the numeric or 
non numeric data to 
show both were inelastic 
and became more 
elastic/elastic 


1 mark 
Limited analysis 
 
There is a chain of 
reasoning, but its 
explanation of why the 
short run and long 
elasticies differ is 
underdeveloped, often 
explaining a general 
increase in supply/output 


0 
0 marks 


No valid understanding 
0 marks 


No valid application  
0 marks 


No valid analysis 


 
Indicative content: 
 
AO1 
Spare production capacity: an inability to easily increase output of commodities due to a lack 
of spare production capacity will make PES inelastic as the producers find it hard to respond 
to a change in price.  
 
Stocks of finished products and components: If there is a lack of stocks of finished products 
or components then it will be difficult for the commodity producers to release output to 
respond to a change in price.  
 
The ease and cost of factor substitution/mobility: If capital and labour are hard to switch 
between the production of different commodities then it will be harder for the producers to 
respond to a change in price.  
 
Time period and production speed: In the short it is harder for businesses to adjust 
production levels leading to inelastic pes, in the long run a producer may be able to adjust its 
production levels.  
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AO2 
Pes: is inelastic when Pes is less than 1 and elastic when greater than 1. 
 
Pes of sugar is strongly inelastic in the short run at 0.14 and become less inelastic but still 
inelastic (but weaker) in the long run at 0.71.   
 
Sugarcane is from an agricultural good. 
 
Pes of copper is moderately inelastic at 0.453 in the short run but becomes elastic in the 
long run at 1.67 
 
Copper is mined, then concentrated and then processed.  
 
AO3 
Pes of sugar is inelastic in short run as production output is fixed and the time taken to grow 
sugarcane and sugar beet is long (as it is an agricultural product). Lack of production 
capacity, due to the large demand for sugar there is likely to be limited spare capacity in 
producers. This becomes less inelastic in long run as producers can try to increase output to 
respond more effectively to an increase in price.  
 
But sugar is still inelastic in long run possibly as it requires large amounts of land to be 
allocated towards its production and this is hard to source in areas with favourable climates.  
 
Even in long run, the time taken to grow new sugar crops makes it harder to respond to price 
changes. Once planted and partly grown then if prices were to fall then producers are likely 
to continue to farm the crop instead of losing income.  
 
It is also hard to hold stock of sugar as it is bulky. 
 
It is relatively hard to switch production from one agriculture product to sugar due to 
production time. 
Pes of copper is inelastic in short run as output in terms of mines is fixed but in the long run 
if prices were to rise, then possibly new sources of copper could be found for extraction. If 
prices were to fall then the producers could decide to temporarily shut mines.  
 
There is likely to be small stockpiles of copper in the short run due to cost of storage and 
possibility of spoiling.  
 
In long run more factors of production can be switched into either extraction of copper or the 
processing of copper instead of other less profitable commodities.  
 
In the long run processing can be switched from other metals to copper to increase output.  
 
Higher value added might be more attractive to increase supply of if prices increase.  
 
In the long run therefore producers of copper are able to increase output at a greater rate 
and be more responsive to a change in price, enabling supply to increase at a more than 
proportional rate than the change in price.  
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Sticky Note

correct calculation expressed as a % change and as prices were falling, a decrease in supply shown through a negative % change







jon

Sticky Note

This answer shows the understanding of reasons plural for the differences show in the PES. It links one reason for both the PES being inelastic in the short run. The 2nd reason is actually used to show why one if more inelastic than the other. There is developed chains of reasoning using economic theory to explain why the factor would affect their supply if price was to rise. However the answer missed the application of the PES for sugar still being inelastic in the long run compared to PES of copper that became elastic. 
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Sticky Note

correct calculation expressed as a % change and as prices were falling, a decrease in supply shown through a negative % change







jon

Sticky Note

This answer shows the understanding of reasons plural for the differences show in the PES. It links one reason for both the PES being inelastic in the short run. There are developed chains of reasoning using economic theory to explain why the factor would affect their supply but misses the linkage to change of supply if prices were to rise (pes), instead generically focusing on output/supply in contrast to how easy it is to increase output if prices were to rise. However the answer applied their arguments to PES for sugar still being inelastic in the long run compared to PES of copper that became elastic. 
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Sticky Note

correct calculation expressed as a % change and as prices were falling, a decrease in supply shown through a negative % change



jon

Sticky Note

This answer shows limited understanding of why the PES might be different for the 2 commodities with a lack of outline on factors that would determine the difference mainly focusing that in the long run there would be more output. There are various elements affect the PES mentioned but lack detail in how they would determine the differences in PES in the data. The answer identifies PES being less elastic in the short run but missed the specific detail in regards sugar still being inelastic. Although there is a statement of thus can produce more, it was felt that there was a lack of explanation of why, as such it was assertion.  
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6.	 Primary commodities are used as inputs into production processes. 


	 Sugar is extracted from sugar cane or sugar beet crops. Copper is produced by processing 
copper ore which is extracted from copper mines. 


	 The estimated price elasticities of supply for the two commodities are shown below: 


Sugar Copper


Short run price 
elasticity of supply 0.14 0.45


Long run price 
elasticity of supply 0.71 1.67


	 (a)	 Sugar prices fell by 18% between November 2018 and January 2019. Calculate the 
percentage change in the short run supply of sugar. 	 [3]


	


	


	


	


	


	


	 (b)	 Explain possible reasons for the differences between the short run and long run price 
elasticities of supply for sugar and copper. 	 [6]


	


	


	


	


	


	


	


	


	


	







